iy ‘ Expanding Triple Brackets
== é\REVISE THIS
S

1 Expand and simplify (X + 1)(x + 2)(x + 5)

(oc+ 1 ot+2)= 2"+ Letx+ 2
= A"+ 2+ L
(o + R+ 2)(x +5)

= X Gt 3+ S+20+10
L4 Rt + 170410

(Total for Question 1 is 3 marks)

2 Expand and simplify  (x + 3)(x + 4)(x + 6)
(c+ (A +w) = 2 +G x4 A + 12
= o Fx L
O3 +1D)(2+6)
= Lo+ brF+T 2+ &2 HWr L

2+ \ 24 Sex 7L

(Total for Question 2 is 3 marks)

3 Expand and simplify  (x + 5)(x — 2)(x + 1)
(tS)(A-2) = ~*-2+Sx—-10
= " +3>—10
(%24 2x ~10)(x+1)
Tl 2P+ x5 43 -10x D

v (4 2
ﬂ X+ Ll—x, -1 -10
(Total for Question 3 is 3 marks)
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4 Expand and simplify  (x—3)(x—4)(x + 2)
(5¢-2)o—t) = x*-lat—2x + (2L
bt —3x v12
(=32 1) x+2)
T x® + 2)(1’—‘:}%2’ -Ee> +1 220 +2Y4

(Total for Question 4 is 3 marks)

(3-7)(5«1\ = \:&": 25*23 x4
= d "L\'d + L
(4™ by - 1)
- 83 _,L\,j"'_. QQL+ \bj -\-L\'d -1 b

Wo—Qu™ +20q —| b

: " =
QTotaI for“duestlon 5 is 3 marks)

6 Expand and simplify  (x + 5)(x + 3)?

(x:\'s)(lJr ) = oA 2S4S

= ¥+ B33 +\5
(a2 +8x +15) o+ 2)
- 1P 20t 1R+ 242+ IS x44S

=
ﬂ Lo P+ W US
(Total for Question 6 is 3 marks)
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7 Expand and simplify  (x + 10)(x — 6)?

(x4+10Xx—6) = 2> — Ex+10x-60
= X +4x-60
(x™ Y- 60) x - 6)

= 5 — bt + U - 2L %60 x +20

X — 2" —Blx+ 260

(Total for Question 7 is 3 marks)

8 Expand and simplify (h—5)3

(h=) (- = W= Sh-Gh+ 25
= h* =10k + 1S
(K=-1oh + 2 (h- <)
= R2-CSh 10k SOk 42Sh-|2S

W2 -ISh*+2Cl -|2S

(Total for Question 8 is 3 marks)

9 Expand and simplify  (x + 12)(x — 2)(x + 2)

(JL+2)(3L"L) = XVt -4
= -4
(x> x+12) = B+ x® bz —48

~ 5
LIl b~ b -8
ﬂ (Total for Question 9 is 3 marks)
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10 Expand and simplify  (2x + 1)(x — 3)(x — 1)

(e N(x-2) = 22% -6 4+ -2
= 2x¥-Cx— 3
(x-S x - ()
= Lo x-St +Sx - Ax+2

22 -Far 1+ L

(Total for Question 10 is 3 marks)

11 Expand and simplify  (3p + 2)(2p + 1)(p + 5)
(3P+L\(2p+ﬂ = bp +oprhp +1
=bplrIptl
(6p=+Fo)(p+S)
- G)’\D 4/'50? -ﬂ—? +?>S‘\>+?,?+\O

cy 3:]-? ....... + 21510

(Total for Question 11is 3 marks)

12 Expand and simplify  (3x + 1)(2x — 1)(4x — 1)

(2x+1)(2-)) = 6ot — e +2x —|
- ot —a —|

(6x* - —1)(4x-1)

= Weo® b =G a” +or—lx+\

V. e P D= 2x
(Total for Question 12 is 3 marks)
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13 Show that (3x + 1)(3x —1)(2x + 3) can be written in the form ax + bx? + cx +d
where a, b, c and d are all integers.

(TxaY22-1) = 9 -2 + Lo - |
= 9t -\

(Ax®-0)(Le +3) = 1B+ ¥ -2x=1

18 2+ 1 =) % -2

(Total for Question 13 is 3 marks)

14 Show that (5x + 1)(X —3)(x —2) — (x + 2)2 can be written in the form ax + bx? + cx + d
where a, b, ¢ and d are all integers.

(SIP\\( - Z\ = Qo -18x yx -2
= Sat- I3

(Q 3(3'—\’-\—1.——?A(x ~2)
= Sx? — 10> I £ +29x -2+
< Sx® -2t 9% +6

(x+2)(1+1) = X+ Wy Do+b

= Xyl +b
S- W+ x+b — - Ux-4&

Sx® 26" v Nx + L

(Total for Question 14 is 6 marks)
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15 x+4)x+3)(x-1)-(x+2)(x-2)(x+5)=(x+a)(x +b)

Given that a > b, work out the values of a and b.

(xi-l-ﬂ(xrl\ =xt +2x+bx ¥
= X+ F 1L
(e D x—1) = X -+ - I ia-\L
= X"+ b *+Sx-\L

(xﬂlDL'L) = Lt 3 x -
=Xk
(- L) x+S) = >4 S2¥ -bax - 20

bt + S -1 =3 +82¥ =tx —10)
= 2’ +bx*+Sx—1L - X °~Sx" + b+ 20
= " +9x +%

= (Y

o 8

(Total for Question 15 is 8 marks)
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